¥ : KBRAR (ERE 28458308 (B) : MRAIST L)
EINRREN 1O
1 2 3 4 5 6 7 8 9 10 a5t| E
TR 0 1 0 0 2 0 0 0 3 1 7 -
ARMUESIRESR 0 (0} (0} (0] 1 0 (0] o 1 2 2
KBRAR 0 0 0 1 0 0 0 0 1 1x 3 0
TR 1 0 0 3 2 1 0 1 0 1 9 -
(B¥F] <MFRLUHEBKRES> BERE e Yo IBFIERE
1| =M@ K& 1E | 2/ ( 3@ | 4E | 58 | 6E 7E 8[E | 9oEl | 10[E [ #T# | =T | 1= | BE | XK
1 9 SEHIE =R =E 5 OBk Rl <& 4 2 1
2 4 FREEXRED | =& 10 BT BT =R 3
3 3 FAIK Pashii U —1'n =& —I'0 4 2
4 D NGk WE | =R b= =R R 5 1 1
5 5 TN HER BT | PR ¥R 7R EHl 4 1
6 2 JKEE—EB PoEk oz 1o =R =23 2
7 7 PR =& 23] =& gl | —1'0) 4 1
8 6 [iiz[ml ey Eai = =t BT 3 1
8 AAHER —1'n —1'n =10 3
9 H HiER A b= 1 1
8 KRS
(i%F] <MFLEBHKRRES>
K& [E1%% 78 [IEREN| RIT | cmm| 43T |UZEER| =IR | &k | BES| (BEEF) FEXE
HEANE 10 40 | 149 | 9 3 1 6 3 1 (ZERIT] M. RS
[=847]
[ARE47]
(#iF] <MFLEBHKRSES>
K& %R TEmE Hr-t-] &R
JKEME—EB
(BFF] <KBRHR> _ _ _ _ _ _ _ _ _ _
1| <F@ K& 1E | 2/ ( 3@ | 4E | 5@ | 6E 7E 8 | oEl | 10[E ([ 7% | =T | 1= | BE | XK
1 6 = =R =R gl FShi Vi 5 1 1
2 4 I~ il amR | B W10 bz 5 3
3 8 IR —R h= | =R =10 "FC| 4 1
4 3 LEalE R th= g o | —E 5 3 1
5 9 TH =R =10 == FFR 3
; 7 =10 FS5) —A #1310 =[E 4 1
R.7 &
5 AR =& =i R UBES 3 1
. D pil= = —1n 2
H.D blin;= 3 —1'0 =23 1
9 2 =H =10 R iy b 4
(1F] <KBRHR>
E3 B [ 7E [BORS] =T [een| BT [R] =k | XA [BEA| [BHSTF] O
T 5 23 | 78 3 3 3 5 1 1 (Z84T] BR. FE ET
®E 2 7 38 1 1 3 [=£47]
&5 2 9 31 3 1 3 1 1 (A24T)
B 1 4 12 1 1
(#§F] <KBRHR>
K& IRER FIESTES B ZE27
EH 1




